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—e e L IH m3 218. 400
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200 % &1 AR 0.00 JT

(357 4 2013 A BRSNS EAR V10. 4. 7]




TREERER

THREAFR: e BEFCH S 2 7 38 M 2 TR 3T e
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304-3 20cm /K Jefe e bR )2 m2 930. 000
306-4 LD R I 2
-a J& 300mm m2 1194. 000
308-1 i% 2 m2 954. 000
309-2 oL A TR
-a J& 50mm m2 954. 000
310-2 Lem P H FP A HHE m2 954. 000
313-1 A=Kt m3 26. 980
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-a 6 59 77 (HPB235. HPB300) kg 531. 890

-b 15 AN 75 (HRB355.  HRB400) kg 1193. 130
403-3 - R RN 7

-a 6 59 757 (HPB235. HPB300) kg 3316. 400

-b 5 AR 75 (HRB355.  HRB400) kg 9931. 380
403-4 P o 5 A 0

-b TR % (HRB355 HRB400) kg 1537. 280

- k) kg 3556. 660
404-1 TAbE 407 m3 349. 000
410-1 TR A (BRSO T

R G AHA L EE L)

-a €30 m3 150. 380
410-2 MER) e )

-a €30 m3 107. 070
410-4 TR e 1 EEgER (C40) m3 54. 240
410-5 b ER S R B AR AL TR R m3 4. 060
410-6 TSt L & 2 A m3 5. 440
415-1 T VR L T A m3 5. 200
415-2 7K Ve VR i L 7 Tt 2B (C40) m3 12. 000
418-1 WiR=iS m2 12. 000
418-2 kK m 5. 200
418-3 2cm JH B B S pE m2 30. 400
418-4 RS S m3 120. 000

400 = A1 AR 0.00 JT
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